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A company that manufactures small canoes has a fixed cost &f $49,820.00 )t costs $30.33
to produce each canoe. The selling price is $44.64 per canoe. Let  represent the
number of canoes produced and sold.

a) Write the cost function, C(z), for this company.
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b) Write the revenue function, R(z), for this company, ——
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c) How many canoes must be produced and sold ¢

Note: Round vour answer up and include the appropriate units. j Q \'
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Biologists have noticed that the chirping of crickets of a certain species is related to

| temperature, and the relarionship appears ro he very nearly linear. A cricket produces
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)5 per minut@fﬁ degrees Fahrenheit angl 175 chirps per minute at 85

[ (s,

Find a linear equation that models the temperature T' as a function of the number of

A (B ,175)
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If the crickets are chirping at 152 chirps per minute, estimate the temperature:
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